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Part I Listening Comprehension (20 minutes)

Section A

Directions: In this section, you will hear 10 short conversations.
At the end of each conversation, a question will be
asked about what was said. Both the conversation
and the question will be spoken only once. After
each question there will be a pause, during the
pause , you must read the four choices marked A),
B), C) and D), and decide which is the best
answer. Then mark the corresponding letter on the

Answer Sheet with a single line through the centre.

Example: You will hear.:
You will read;
A) 2 hours,
B) 3 hours.
C) 4 hours,
D) 5 hours,
From the convérsation we know that the two are
talking about some work they will start at 9 o’ clock in

the morning and have to finish at 2 in the a fternoon.



Therefore, D) “5 hours” is the correct answer. You
should choose [D] on the Answer Sheet and mark it

with a single line through the centre.

Sample Answer [A] [B] [C] [B-]

. A) Susan is a fast worker.

B) Susan did Jack’s homework.

C) Susan didn’t do all her own homework.

D) Susan has not finished her homework.

. A) They spent their vacation with George’s parents in Chicago.

B) They spent their vacation with the woman’s sister in
Washington.

C) They spent their vacation with their friends in Europe.

D) They spent their vacation with the woman’s parents in

Boston.
. A) A holiday. C) Sunday.
B) Christmas Day. D) On the woman’s birthday.

. A) From their personal telephone book.

B) From the directory,

C) From the operator.

D) From Dr. James himself,

. A) Preparing for bed.

B) Walking toward the campus.

C) Looking for a place to live in.

D) Inviting some friends to visit.

. A) West Virginia has many unexplored areas.

B) Andy would probably be a good person to ask.
* C) The campers should try to get a lot of information.
D) Andy will help if he’s there this summer.



7. A) She partially agrees with the man.
B) She completely agrees with the man.
C) She doesn’t agree with the man.
D) She thinks life’s worse for the young people.
8. A) He shouldn’t cry whenever the baby cries.
B) He can’t put the baby’s toy into pieces.
C) He can’t have pieces of cakes every time.
D) He shouldn’t be so nervous whenever the baby cries.
9. A) Jason is not good at horse riding,
B) Jason is inexperienced in horse riding.
C) Jason is too nervous to ride a horse,
D) Jason hurt himself in horse riding.
10. A) The woman wants an office with a better view.
B) The river can be seen from both offices.
C) The woman’s office has two windows.

D) They have to cross the river every day.
Section B

Directions: In this section, you will hear 3 short passages. At
the end of each passage you will hear some ques-
tions. Both the passage and the questions will be spo-
ken only once. After you hear a question, you must
choose the best answer from the four choices marked
A), B), C) and D). Then mark the corresponding
letter on the Answer Sheet with a single line through

the centre,

Passage One
Questions 11 to 13 are based on the passage you have just heard .
11. A) The function and nature of the brain.
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12.

13.

B) The function and nature of nerve cells.

C) The five senses.
D) The spinal cord.

A) Part of a textbook. C) Some microscope slides.
B) A large chart. D) Her recent research.
A) To move muscles. C) To protect the nerves.
B) To detect light. D) To soothe the brain.

Passage Two

Questions 14 to 16 are based on the passage you have just heard ;

14.

15.

16.

A) When they are middle-aged.

B) When they are tired of the life in big cities.

C) On retirement,

D) When they are spending holidays.

A) Because there are too many of them.

B) Because small towns don’t have enough resources and
social services,

C) Because they have their own families.

D) Because they have their own relatives.

A) Today’s old.

B) Tomorrow’s old.

C) Old people moving to seaside towns.

D) Old people who are offered flats.

Passage Three

Questions 17 to 20 are based on the passage you have just heard .

17.

A) From his studies as a sociologist.
B) From novels with a working-class setting.

C) From the work of social historians.



